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Pewume ypagHeHuUe:

Bl 3" =22-3% + 135

671. 3*-3% = 22-.3% 4135, 27-3%* —22-3* = 135, §:3* = 135,

- 4*%'%

Omsem: 3.




2). Pewume ypagHeHuUe:

1/‘

678.10-2°7° 4 3 - 21 = 23.

T

Omesem: —A4.
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3.log, xyv=1log, x+log_

4. lO.,a =log, x—log,
"
5.1og, x* = plog_ x;
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6.log . x=—log, x:
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673. log, 3 + log, z = log, 21.

073, log, 3z =log, 21,3z =21,z="7,7> 0.
Omeem: 7.
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676. logz(z* — 7) — logz 2z = 1.

2 2
676. log3x2;7 = log;3 & 12;7 =3,22-6x-7=0,z; = -1,

Z3 = 7. lenaem npoBepKy: 1 — NOCTOPOHHHH KOPEHb, T.K. logs 271 B 1€BO¥
YaCTH He onpeeJi€H; NpH = 7 06a Jorapudma B JIEBOH YaCTH ONpeeJieHHl,
T1.6. T2 = 7 YAOBJIETBOPAET HCXOJHOMY YPaBHEHHIO.

Omesem: 7. :
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§78. loggs o* = 1 log, ° = log, 7,log, * = 2log; =,

73 - log, 22 = log, z — 2logy, z = —logy z = 2,z = 272 = 0,25.
Omeem: 0,25.




682. 51034 05 210g2 10—log, ¢ z

682. 5'084 05 — 2'083 10~ 108103 Qﬂ3- £ >0, 572 = 2logz10 . gloge2s

uw

Omeem T = 250000







«A MaTeMaTUKy yxe
3aTeM yunUTb criegyer,
YTO OHa YM B NOPAAOK
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